## BID TABULATION FOR:

**BID OPENING DATE:** 

TABULATION BY:

LJA JOB NO.

**TABULATION DATE:** 

BID OPENING LOCATION:

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR REUNION PHASE 2

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS

OCTOBER 29, 2025 LJA ENGINEERING, INC. S.BOOTH OCTOBER 29, 2025

NTD720-0083

	BIDDER NAME	BASE BID	PROPOSED DURATION (DAYS)	CONTRACTOR SCHEDULE
1) RPM XCONSTRUCTION		\$3,979,392.10	65 \ 25	MARCH 2026
2) PAVECON PUBLIC WORKS		\$4,009,351.50	75 \ 15	FEBRUARY 2, 2026
3) SMITH CONTRACTING INC.		\$4,021,410.63	90 \ 30	APRIL 1, 2026
4) GM CONSTRUCTION TX		\$4,070,478.14	110\30	AUGUST 2026
5) L.H. LACY COMPANY, LTD.		\$4,107,344.17	150 \ 40	FEBRUARY 1, 2026
6) MARIO SINACOLA & SONS E	XCAVATING, INC.	\$4,122,886.80	85 \ 20	MARCH 15, 2026
7) GTI		\$4,241,535.65	115 \ 60	APRIL 6, 2026
8) HARPER BROTHER CONSTRU	JCTION	\$4,446,632.95	90 \ 20	APRIL 2026

I, Michelle Tilotta, P.E., hereby certify these bid tabulations to be true and correct.

10.29.2025

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.

LJA ENGINEERING, IN S.BOOTH OCTOBER 29, 2025 NTD720-0083

			1) RPM XCONSTRUCTION		2) PAVECON I	2) PAVECON PUBLIC WORKS		3) SMITH CONTRACTING INC.		4) GM CONSTRUCTION TX	
NO. ITEM DESCRIPTION	UNIT	OTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
BASE BID SECTION A - REUNION PH. 2 - PAVING IMPROVEMENTS:	UNII	QIT	UNITCUST	TOTAL	UNIT COST	IUIAL	UNIT COST	IUIAL	UNIT COST	IUIAL	
1. 6" REINFORCED CONCRETE PAVEMENT (3,600 PSI), INCLUDING CURB &	SY	59778	\$43.30	\$2,588,387.40	\$42.40	\$2,534,587.20	\$41.05	\$2,453,886.90	\$42.80	\$2,558,498.40	
GUTTER	31	33778	J43.30	\$2,366,367.40	J42.40	\$2,334,367.20	J41.03	\$2,433,880.30	Ş42.80	\$2,556,456.40	
2. 6" COMPACTED LIME STABILIZED SUBGRADE	SY	63624	\$3.50	\$222,684.00	\$3.60	\$229,046.40	\$3.25	\$206,778.00	\$4.00	\$254,496.00	
3. HYDRATED LIME (36#/SY)	TON	1146	\$315.00	\$360,990.00	\$342.30	\$392,275.80	\$340.00	\$389,640.00	\$325.00	\$372,450.00	
4. TRAFFIC SIGN (R2-1)	EA	2	\$550.00	\$1,100.00	\$811.60	\$1,623.20	\$1,200.00	\$2,400.00	\$1,100.00	\$2,200.00	
5. TRAFFIC SIGN (ENTERING RVR WCID NO. 1)	EA	2	\$565.00	\$1,130.00	\$778.50	\$1,557.00	\$1,200.00	\$2,400.00	\$1,100.00	\$2,200.00	
6. STOP SIGN & STREET NAME SIGN	EA	8	\$900.00	\$7,200.00	\$877.90	\$7,023.20	\$1,250.00	\$10,000.00	\$1,200.00	\$9,600.00	
7. STOP SIGN & STREET NAME SIGN MOUNTED ON STREETLIGHT	EA	17	\$850.00	\$14,450.00	\$535.60	\$9,105.20	\$750.00	\$12,750.00	\$600.00	\$10,200.00	
8. STREET NAME SIGN	EA	2	\$850.00	\$1,700.00	\$822.70	\$1,645.40	\$1,200.00	\$2,400.00	\$1,100.00	\$2,200.00	
9. STREET NAME SIGN MOUNTED ON STREETLIGHT	EA	2	\$800.00	\$1,600.00	\$436.20	\$872.40	\$750.00	\$1,500.00	\$600.00	\$1,200.00	
10. REMOVE BARRICADE AND CONNECT TO EXISTING CONCRETE PAVEMEN	T EA	4	\$1,050.00	\$4,200.00	\$357.80	\$1,431.20	\$1,500.00	\$6,000.00	\$960.00	\$3,840.00	
11. BARRIER FREE RAMP (INTERSECTION)	EA	47	\$2,200.00	\$103,400.00	\$2,318.10	\$108,950.70	\$3,250.00	\$152,750.00	\$1,825.00	\$85,775.00	
12. 5' WIDE CONCRETE SIDEWALK (4" THICK)	SF	30901	\$6.00	\$185,406.00	\$6.30	\$194,676.30	\$6.50	\$200,856.50	\$7.05	\$217,852.05	
13. TRAFFIC CONTROL	LS	1	\$2,500.00	\$2,500.00	\$1,656.40		\$5,000.00	\$5,000.00	\$7,200.00	\$7,200.00	
14. REMOVE METAL BEAM GUARD FENCE AND CONNECT TO EXISTING	EA	2	\$850.00	\$1,700.00	\$388.30	\$776.60	\$2,500.00	\$5,000.00	\$1,670.00	\$3,340.00	
CONCRETE PAVEMENT			_	40.000.00		40.400.000.00	_	40 404 064 40	_	40 -01 -01 -0	
SUBTOTAL BASE BID SECTION A - REUNION PH. 2 - PAVING IMPROVEMENTS:				\$3,496,447.40		\$3,485,227.00		\$3,451,361.40		\$3,531,051.45	
BASE BID SECTION B - REUNION PH.2 MASTER ROADWAY (GALLETA) - PAVING	INADDON/ENAEN	ITC.									
1. 7.5" REINFORCED CONCRETE PAVEMENT (3,600 PSI), INCLUDING CURB		2582	\$65.00	\$167,830.00	\$59.80	\$154,403.60	\$66.05	\$170,541.10	\$61.60	\$159,051.20	
GUTTER			7	7-10/100	,,,,,,	7 1, 1001111	,,,,,,,	+ = · • /• · = · = ·	**	<del>+</del>	
2. 7.5" COMPACTED LIME STABILIZED SUBGRADE	SY	2718	\$3.50	\$9,513.00	\$3.60	\$9,784.80	\$3.50	\$9,513.00	\$4.00	\$10,872.00	
3. HYDRATED LIME (36#/SY)	TON	49	\$315.00	\$15,435.00	\$342.30	\$16,772.70	\$340.00	\$16,660.00	\$325.00	\$15,925.00	
4. BARRIER FREE RAMP (MID-BLOCK)	EA	2	\$2,200.00	\$4,400.00	\$2,185.10	\$4,370.20	\$2,250.00	\$4,500.00	\$2,520.00	\$5,040.00	
5. 5' WIDE CONCRETE SIDEWALK (4" THICK)	SF	4425	\$6.00	\$26,550.00	\$6.30	\$27,877.50	\$6.50	\$28,762.50	\$7.05	\$31,196.25	
6. LEFT TURN LANE ONLY PAVEMENT MARKING (ARROW)	EA	2	\$175.00	\$350.00	\$270.60	\$541.20	\$350.00	\$700.00	\$200.00	\$400.00	
7. RIGHT & STRAIGHT ONLY PAVEMENT MARKING (ARROW)	EA	2	\$285.00	\$570.00	\$281.00	\$562.00	\$550.00	\$1,100.00	\$320.00	\$640.00	
8. KEEP LEFT PAVEMENT MARKING (ARROW)	EA	2	\$175.00	\$350.00	\$270.60	\$541.20	\$350.00	\$700.00	\$190.00	\$380.00	
9. TRAFFIC SIGN (R2-1)	EA	1	\$550.00	\$550.00	\$811.60	\$811.60	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	
10. TRAFFIC SIGN (R3-7)	EA	2	\$565.00	\$1,130.00	\$811.60	\$1,623.20	\$1,200.00	\$2,400.00	\$1,100.00	\$2,200.00	
11. TRAFFIC SIGN (W9-1L)	EA	1	\$565,00	\$565.00	\$811.60	\$811.60	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	
12. TRAFFIC SIGN (ENTERING RVR WCID NO. 1)	EA	1	\$565.00	\$565.00	\$811.60	\$811.60	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	
13. 4" BROKEN WHITE C STRIPING (PM(3)-20)	LF	120	\$1.60	\$192.00	\$6.10	\$732.00	\$2.50	\$300.00	\$1.80	\$216.00	
14. 8" WHITE CHEVRON MEDIAN MARKINGS (20' SPACING)	SF	2539	\$1.20	\$3,046.80	\$5.40	\$13,710.60	\$2.00	\$5,078.00	\$1.30	\$3,300.70	
<ol> <li>8" YELLOW DIAGONAL CROSSHATCH MARKINGS (20' SPACINGS)</li> </ol>	SF	2062	\$1.20	\$2,474.40	\$5.70	\$11,753.40	\$2.00	\$4,124.00	\$1.30	\$2,680.60	
16. TRAFFIC CONTROL	LS	1	\$2,500.00	\$2,500.00	\$1,656.40	\$1,656.40	\$15,000.00	\$15,000.00	\$3,300.00	\$3,300.00	
SUBTOTAL BASE BID SECTION B - REUNION PH.2 MASTER ROADWAY (GALLETA	- PAVING IM	PROVEMENTS		\$236,021.20		\$246,763.60		\$262,978.60		\$238,501.75	

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025
LIA ENGINEERING, INC.

LJA ENGINEERING, I S.BOOTH OCTOBER 29, 2025 NTD720-0083

			1) RPM XCO	NSTRUCTION	2) PAVECON I	PUBLIC WORKS	3) SMITH CONTE	PACTING INC.	4) GM CONST	RUCTION TX
								4		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION C - REUNION PH.2 TXDOT IMPROVEMENTS:										
1. 2" SURFACE HMAC (SUPERPAVE P TYPE C SAC A PG 70-28), TXDOT ITEM	SY	1557	\$23.00	\$35,811.00	\$22.10	\$34,409.70	\$32.49	\$50,586.93	\$25.90	\$40,326.30
NO. 0344 7024			445.00	40 705 00	445.50	440 770 40	445.00	440.004.00	447.00	444 000 00
2. FULL DEPTH SAWCUT ASPHALT PAVEMENT 3' WIDE ALONG RIGHT TURN	LF	649	\$15.00	\$9,735.00	\$16.60	\$10,773.40	\$16.00	\$10,384.00	\$17.00	\$11,033.00
LANE, TXDOT ITEM NO. 0105 7001 3. CONNECT TO EXISTING PAVEMENT HEADER, TXDOT ITEM NO. 0344 7024	EA	1	\$3,750.00	\$3,750.00	\$1,429.90	\$1,429.90	\$5,000.00	\$5,000.00	\$1,200.00	\$1,200.00
4. 6" SOLID DOUBLE YELLOW STRIPING WITH TYPE II-A-A MARKERS, TXDOT	LF	641	\$5.50	\$3,525.50	\$6.50	\$4,166.50	\$4.00	\$2,564.00	\$6.30	\$4,038.30
ITEM NO. 0668 7051, 0672 7004		0.1	ψ5.50	ψ3,323.30	Ģ0.50	V 1,200.50	\$ 1.00	Q2,50 1100	φ0.50	Ų 1,030.30
5. 6" SOLID WHITE SHOULDER STRIPE WITH PROFILE EDGELINE MARKINGS,	LF	511	\$2.40	\$1,226.40	\$6.50	\$3,321.50	\$6.00	\$3,066.00	\$2.70	\$1,379.70
TXDOT ITEM NO. 0668 7009 6. 8" SOLID WHITE PAVEMENT STRIPE WITH TYPE I-C RAISED PAVEMENT	LF	920	\$3.60	\$3,312.00	\$5.00	\$4,600.00	\$6.00	\$5,520.00	\$4.00	\$3,680.00
MARKERS, TXDOT ITEM NO. 0668 7014, 0672 7002										
<ol><li>LEFT TURN ONLY PAVEMENT MARKING (ARROW &amp; WORD), TXDOT ITEM NO. 0668 7023. 0668 7031</li></ol>	EA	2	\$375.00	\$750.00	\$817.20	\$1,634.40	\$550.00	\$1,100.00	\$420.00	\$840.00
8. RIGHT TURN ONLY PAVEMENT MARKING (ARROW & WORD), TXDOT ITEM	EA	2	\$375.00	\$750.00	\$817.20	\$1,634.40	\$550.00	\$1,100.00	\$420.00	\$840.00
NO. 0668 7023, 0668 7031										
<ol><li>RIGHT LANE MUST TURN RIGHT SIGN, TXDOT ITEM NO. 0636 7007</li></ol>	EA	1	\$565.00	\$565.00	\$844.80	\$844.80	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00
10. KEEP RIGHT SIGN, TXDOT ITEM NO. 0636 7007	EA	1	\$550.00	\$550.00	\$844.80	\$844.80	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00
11. TEMPORARY WORK ZONE MARKINGS, TXDOT ITEM NO. 0662	LS	1	\$3,500.00	\$3,500.00	\$1,982.10	\$1,982.10	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
12. TEMPORARY TRAFFIC CONTROL, TXDOT ITEM NO. 0502 7001	LS	1	\$10,000.00	\$10,000.00	\$11,683.10	\$11,683.10	\$15,000.00	\$15,000.00	\$29,100.00	\$29,100.00
13. 4" HMAC (DENSE-GRADED TYPE B PG 64-22), TXDOT ITEM NO. 0341 7001	SY	1268	\$37.00	\$46,916.00	\$30.90	\$39,181.20	\$45.08	\$57,161.44	\$42.20	\$53,509.60
14. PRIME COAT MC-30 OR EC-30, TXDOT ITEM NO. 0310 7004	SY	1268	\$3.75	\$4,755.00	\$0.80	\$1,014.40	\$2.07	\$2,624.76	\$4.30	\$5,452.40
15. 6" FLEX BASE TYPE A GRADE 1-2, TXDOT ITEM NO. 0247 7044	SY	1268	\$12.50	\$15,850.00	\$18.80	\$23,838.40	\$30.00	\$38,040.00	\$27.60	\$34,996.80
16. PLANING ASPHALT CONCRETE PAVEMENT (0"-2") AT	SY	143	\$42.00	\$6,006.00	\$63.60	\$9,094.80	\$61.70	\$8,823.10	\$61.00	\$8,723.00
CONNECTIONS/TRANSITIONS TO EXISTING ROADWAY, TXDOT ITEM NO.										
0354 7002 17. 8" LIME STABILIZED SUBGRADE, TXDOT ITEM NO. 0260 7015	SY	1268	\$16.00	\$20,288.00	\$9.90	\$12,553.20	\$4.50	\$5,706.00	\$4.00	\$5,072.00
18. TACK COAT, TXDOT ITEM NO. 0292 7017	SY	1268	\$0.20	\$253.60	\$0.10	\$12,333.20	\$1.55	\$1,965.40	\$0.23	\$291.64
·	LF	36	\$10.50	\$378.00		\$597.60	\$30.00	\$1,965.40	\$12.20	\$439.20
<ol> <li>24" WHITE STOP LINE, TXDOT ITEM NO. 0666 7352</li> <li>HIGHWAY INTERSECTION AHEAD SIGN, TXDOT ITEM NO. 0636 7007</li> </ol>	EA	2	\$850.00	\$1,700.00	\$16.60 \$844.80	\$1,689.60	\$1,200.00	\$2,400.00	\$1,300.00	\$2,600.00
21. STOP SIGN, TXDOT ITEM NO. 0636 7007	EA	1	\$650.00	\$650.00	\$877.90	\$1,689.60	\$1,200.00	\$2,400.00	\$1,300.00	\$1,300.00
· · · · · · · · · · · · · · · · · · ·	TON	23	\$315.00	\$7,245.00	\$342.30		\$1,200.00		\$325.00	
22. HYDRATED LIME (36#/SY) 23. REMOVE EXISTING PAVEMENT MARKINGS	LS	23 1	\$1,600.00	\$1,245.00	\$16,895.20	\$7,872.90 \$16,895.20		\$7,820.00 \$7.000.00		\$7,475.00 \$1,830.00
SUBTOTAL BASE BID SECTION C - REUNION PH.2 TXDOT IMPROVEMENTS:	L3	1	31,000.00	\$179,116.50	\$10,055.20	\$191.066.60	\$7,000.00	\$240.541.63	\$1,830.00	\$221,726.94
SUBTOTAL BASE BID SECTION C - REUNION PR.2 TADOT INIPROVENIENTS:				\$179,116.50		\$191,000.00		\$240,541.63		\$221,726.94
BASE BID SECTION D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY:										
1. 6" REINFORCED CONCRETE PAVEMENT (3,600 PSI) DRIVEWAY APPROACH	SY	19	\$50.00	\$950.00	\$211.20	\$4,012.80	\$250.00	\$4,750.00	\$43.00	\$817.00
2. 12" FLEX BASE	SY	545	\$20.00	\$10,900.00	\$39.70	\$21,636.50	\$20.00	\$10,900.00	\$48.20	\$26,269.00
3. 6" COMPACTED LIME STABILIZED SUBGRADE (PER GEOTECHNICAL	SY	622	\$3.50	\$2,177.00	\$15.30	\$9,516.60	\$4.50	\$2,799.00	\$4.00	\$2,488.00
ENGINEERING REPORT) 4. HYDRATED LIME (36#/SY)	TON	12	\$315.00	\$3,780.00	\$342.30	\$4,107.60	\$340.00	\$4,080.00	\$327.00	\$3,924.00
SUBTOTAL BASE BID SECTION D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY.	TON	12	J313.00 _	\$17.807.00	_ 2.50 ب	\$39.273.50	7340.00	\$22.529.00	,327.00 <u> </u>	\$33,498.00
555.5.112 51.52 515 SECTION 5 - NEONION 1 THE WELL SITE ACCESS DRIVEWAY.	V			717,007.00		433,213.30		722,323.00		733,730.00
BASE BID SECTION E - REUNION PH.2 MISCELLANEOUS ITEMS:										
1. PERFORMANCE AND PAYMENT BOND	LS	1	\$40,000.00	\$40,000.00	\$35,326.00	\$35,326.00	\$32,000.00	\$32,000.00	\$35,700.00	\$35,700.00
2. MAINTENANCE BOND - 2 YR, 100%	LS	1	\$10,000.00	\$10,000.00	\$11,694.80	\$11,694.80	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00
SUBTOTAL BASE BID SECTION E - REUNION PH.2 MISCELLANEOUS ITEMS:	_			\$50,000.00		\$47,020.80		\$44,000.00		\$45,700.00

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025

OCTOBER 29, 2025 LIA ENGINEERING, INC. S.BOOTH OCTOBER 29, 2025 NTD720-0083

				1) RPM XCONSTRUCTION		2) PAVECON PUBLIC WORKS		3) SMITH CONTRACTING INC.		4) GM CONSTRUCTION TX	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	REUNION PH.2 PAVING ITEMS:										
	E CONCRETE TRAIL (4" THICK)	SF	8000	\$6.25		\$8.50	\$68,000.00	\$6.50	\$52,000.00	\$7.25	\$58,000.00
	DE CONCRETE TRAIL (4" THICK)	SF SY	10000	\$6.25	\$62,500.00	\$8.40	\$84,000.00	\$6.50	\$65,000.00	\$7.25	\$72,500.00
	VE AND REPLACE EXISTING CONCRETE PANELS WITH A 6" HIGH STRENGTH CONCRETE WITH 4,200 PSI STRENGTH @28 DAYS	31	458	\$255.00	\$116,790.00	\$147.90	\$67,738.20	\$165.00	\$75,570.00	\$160.00	\$73,280.00
	DRCED WITH #4 BARS @ 18" C-C A 6.5 SACK MINIMUM, AND A MAX										
WATE	REPAIRS EVALUATION OF 0.4 AS SHOWN ON THE ATTACHED PAVEMENT							•			
	X BASE TO BE INSTALLED UNDER THE REPLACED CONCRETE PANELS	SY	458	\$55.00	\$25,190.00	\$39.70	\$18,182.60	\$32.50	\$14,885.00	\$123.00	\$56,334.00
AS SHO	OWN ON THE ATTACHED PAVEMENT PANEL REPAIRS EXHIBIT.							1			
INCLU	DES 2-FOOT OVER EXCAVATION, BACKFILLING WITH NATIVE SOIL IN							/			
	LIFTS. MATERIAL TESTS. AND PROOF-ROLLING										
	AND SEAL EXISTING CONCRETE PAVEMENT	LF	20	\$50.00		\$55.20	\$1,104.00	\$15.00	\$300.00	\$17.00	\$340.00
	S GATE WITH KNOXBOX FOR FIRE ACCESS (PAINTED STEEL FARM	EA	1	\$12,000.00	\$12,000.00	\$7,177.70	\$7,177.70	\$4,000.00	\$4,000.00	\$7,200.00	\$7,200.00
GATE	MINIMUM 48" HEIGHT)				\$267,480.00		\$246,202.50	-	\$211,755.00	_	\$267,654.00
SUBTOTAL ALT	ERNATE I - REUNION PH.2 PAVING ITEMS:				3207,400.00		3246,202.30		3211,733.00		3207,034.00
ALTERNATE II -	REUNION PH.2 TXDOT EXCAVATION ITEMS:										
	ING & GRUBBING - TXDOT RIGHT TURN LANE	AC	0.76	\$6,500.00	\$4,940.00	\$3,366.10	\$2,558.24	\$2,500.00	\$1,900.00	\$11,000.00	\$8.360.00
2. UNCLA	SSIFIED EXCAVATION - TXDOT RIGHT TURN LANE	CY	1170	\$15.00	\$17,550.00	\$43.00	\$50,310.00	\$25.00	\$29,250.00	\$23.80	\$27,846.00
3. EROSIO	ON CONTROL FOR TXDOT IMPROVEMENTS	LS	1	\$7,500.00	\$7,500.00	\$7,267.60	\$7,267.60	\$10,000.00	\$10,000.00	\$8,700.00	\$8,700.00
	IC CONTROL DURING EXCAVATION	MO	1	\$10,000.00	\$10,000.00	\$9,700.90	\$9,700.90	\$7,500.00	\$7,500.00	\$5,300.00	\$5,300.00
5. BACKF	ILL ASPHALT	LS	1	\$6,500.00	\$6,500.00	\$2,385.80	\$2,385.80	\$5,000.00	\$5,000.00	\$4,800.00	\$4,800.00
SUBTOTAL ALT	ERNATE II - REUNION PH.2 TXDOT EXCAVATION ITEMS:				\$46,490.00		\$72,222.54		\$53,650.00		\$55,006.00
BID SUMMARY					17 V						
BASE BID SECTION	ON A - REUNION PH. 2 - PAVING IMPROVEMENTS:				\$3,496,447.40		\$3,485,227.00		\$3,451,361.40		\$3,531,051.45
BASE BID SECTION	ON B - REUNION PH.2 MASTER ROADWAY (GALLETA) - PAVING IMPR	OVEMENT	S:		\$236,021.20		\$246,763.60		\$262,978.60		\$238,501.75
BASE BID SECTION	ON C - REUNION PH.2 TXDOT IMPROVEMENTS:			1	\$179,116.50		\$191,066.60		\$240,541.63		\$221,726.94
BASE BID SECTION	ON D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY:		. •		\$17,807.00		\$39,273.50		\$22,529.00		\$33,498.00
BASE BID SECTION	ON E - REUNION PH.2 MISCELLANEOUS ITEMS:				\$50,000.00		\$47,020.80		\$44,000.00		\$45,700.00
TOTAL AMOUN	T BASE BID				\$3,979,392.10		\$4,009,351.50		\$4,021,410.63		\$4,070,478.14
		^									
ALTERNATE ITE	MS:	V									
ALTERNATE I - F	EUNION PH.2 PAVING ITEMS:	1			\$267,480.00		\$246,202.50		\$211,755.00		\$267,654.00
ALTERNATE II -	REUNION PH.2 TXDOT EXCAVATION ITEMS:	) '			\$46,490.00		\$72,222.54		\$53,650.00		\$55,006.00

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025

LIA ENGINEERING, INC. S.BOOTH OCTOBER 29, 2025 NTD720-0083

			5) L.H. LACY C	OMPANY, LTD.	6) MARIO SINACOLA	A & SONS EXCAVATING,	7) GTI		8) HARPER BROTHER CONSTRUCTION	
			5, 2 2	, 2.2.	'	INC.			0,10011	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION A - REUNION PH. 2 - PAVING IMPROVEMENTS:	OWN	QII	OMIT COST	TOTAL	ONIT COST	TOTAL	Oitil COO!	IOIAL	Oldir Cool	TOTAL
1. 6" REINFORCED CONCRETE PAVEMENT (3,600 PSI), INCLUDING CURB 8	SY	59778	\$43.90	\$2,624,254.20	\$45.00	\$2,690,010.00	\$45.45	\$2,716,910.10	\$50.35	\$3,009,822.30
GUTTER		337.70	ŷ 15.50	\$2,02 i,23 ii.20	Ų 15.00	ψ <u>2</u> ,030,010.00	4	, , , , , , , , , , , , , , , , , , , ,	φ30.33	\$5,005,022.50
2. 6" COMPACTED LIME STABILIZED SUBGRADE	SY	63624	\$3.17	\$201,688.08	\$4.00	\$254,496.00	\$3.90	\$248,133.60	\$3.50	\$222,684.00
3. HYDRATED LIME (36#/SY)	TON	1146	\$306.59	\$351,352.14	\$295.00	\$338,070.00	\$310.00	\$355,260.00	\$315.00	\$360,990.00
4. TRAFFIC SIGN (R2-1)	EA	2	\$959.44	\$1,918.88	\$520.00	\$1,040.00	\$1,030.00	\$2,060.00	\$520.00	\$1,040.00
5. TRAFFIC SIGN (ENTERING RVR WCID NO. 1)	EA	2	\$959.44	\$1,918.88	\$535.00	\$1,070.00	\$1,030.00	\$2,060.00	\$535.00	\$1,070.00
6. STOP SIGN & STREET NAME SIGN	EA	8	\$1,045.20	\$8,361.60	\$850.00	\$6,800.00	\$1,125.00	\$9,000.00	\$850.00	\$6,800.00
7. STOP SIGN & STREET NAME SIGN MOUNTED ON STREETLIGHT	EA	17	\$530.64	\$9,020.88	\$800.00	\$13,600.00	\$575.00	\$9,775.00	\$800.00	\$13,600.00
8. STREET NAME SIGN	EA	2	\$959.44	\$1,918.88	\$800.00	\$1,600.00	\$1,030.00	\$2,060.00	\$800.00	\$1,600.00
9. STREET NAME SIGN MOUNTED ON STREETLIGHT	EA	2	\$530.64	\$1,061.28	\$750.00	\$1,500.00	\$575.00	\$1,150.00	\$750.00	\$1,500.00
10. REMOVE BARRICADE AND CONNECT TO EXISTING CONCRETE PAVEMENT		4	\$857.49	\$3,429.96	\$500.00	\$2,000.00	\$800.00	\$3,200.00	\$2,400.00	\$9,600.00
			•				•	• •		• •
11. BARRIER FREE RAMP (INTERSECTION)	EA	47	\$2,499.16	\$117,460.52	\$3,000.00	\$141,000.00	\$3,000.00	\$141,000.00	\$2,900.00	\$136,300.00
12. 5' WIDE CONCRETE SIDEWALK (4" THICK)	SF	30901	\$7.60	\$234,847.60	\$6.50	\$200,856.50	\$6.80	\$210,126.80	\$6.15	\$190,041.15
13. TRAFFIC CONTROL	LS	1	\$1,650.00	\$1,650.00	\$1,250.00		\$6,000.00	\$6,000.00	\$4,300.00	\$4,300.00
14. REMOVE METAL BEAM GUARD FENCE AND CONNECT TO EXISTING	EA	2	\$1,243.62	\$2,487.24	\$750.00		\$900.00	\$1,800.00	\$2,200.00	\$4,400.00
CONCRETE PAVEMENT			. ,	. , -				, ,	. ,	. ,
SUBTOTAL BASE BID SECTION A - REUNION PH. 2 - PAVING IMPROVEMENTS:			_	\$3,561,370.14		\$3,654,792.50	_	\$3,708,535.50	_	\$3,963,747.45
						,		, ,		, ,
BASE BID SECTION B - REUNION PH.2 MASTER ROADWAY (GALLETA) - PAVING	IMPROVEMEN	ITS:								
1. 7.5" REINFORCED CONCRETE PAVEMENT (3,600 PSI), INCLUDING CURB	& SY	2582	\$53.37	\$137,801.34	\$70.00	\$180,740.00	\$70.85	\$182,934.70	\$71.60	\$184,871.20
GUTTER										
2. 7.5" COMPACTED LIME STABILIZED SUBGRADE	SY	2718	\$3.58	\$9,730.44	\$4.50	\$12,231.00	\$4.50	\$12,231.00	\$3.60	\$9,784.80
3. HYDRATED LIME (36#/SY)	TON	49	\$306.59	\$15,022.91	\$295.00	\$14,455.00	\$310.00	\$15,190.00	\$315.00	\$15,435.00
4. BARRIER FREE RAMP (MID-BLOCK)	EA	2	\$2,544.05	\$5,088.10	\$3,000.00	\$6,000.00	\$2,600.00	\$5,200.00	\$2,900.00	\$5,800.00
5. 5' WIDE CONCRETE SIDEWALK (4" THICK)	SF	4425	\$7.62	\$33,718.50	\$6.50	\$28,762.50	\$6.80	\$30,090.00	\$6.15	\$27,213.75
6. LEFT TURN LANE ONLY PAVEMENT MARKING (ARROW)	EA	2	\$300.16	\$600.32	\$165.00	\$330.00	\$325.00	\$650.00	\$165.00	\$330.00
7. RIGHT & STRAIGHT ONLY PAVEMENT MARKING (ARROW)	EA	2	\$455.60	\$911.20	\$265.00	\$530.00	\$500.00	\$1,000.00	\$265.00	\$530.00
8. KEEP LEFT PAVEMENT MARKING (ARROW)	EA	2	\$300.16	\$600.32	\$165.00	\$330.00	\$325.00	\$650.00	\$165.00	\$330.00
9. TRAFFIC SIGN (R2-1)	EA	1	\$959,44	\$959.44	\$520.00	\$520.00	\$1,030.00	\$1,030.00	\$520.00	\$520.00
10. TRAFFIC SIGN (R3-7)	EA	2	\$959.44	\$1,918.88	\$535.00	\$1,070.00	\$1,030.00	\$2,060.00	\$535.00	\$1,070.00
11. TRAFFIC SIGN (W9-1L)	EA	1	\$959.44	\$959.44	\$535.00	\$535.00	\$1,030.00	\$1,030.00	\$535.00	\$535.00
12. TRAFFIC SIGN (ENTERING RVR WCID NO. 1)	EA	1	\$959.44	\$959.44	\$535.00	\$535.00	\$1,030.00	\$1,030.00	\$535.00	\$535.00
13. 4" BROKEN WHITE C STRIPING (PM(3)-20)	LF	120	\$3.22	\$386.40	\$1.50	\$180.00	\$2.00	\$240.00	\$1.50	\$180.00
14. 8" WHITE CHEVRON MEDIAN MARKINGS (20' SPACING)	SF	2539	\$3.75	\$9,521.25	\$1.10	\$2,792.90	\$1.30	\$3,300.70	\$1.10	\$2,792.90
15. 8" YELLOW DIAGONAL CROSSHATCH MARKINGS (20' SPACINGS)	SF	2062	\$3.75	\$7,732.50	\$1.10	\$2,268.20	\$1.30	\$2,680.60	\$1.10	\$2,268.20
16. TRAFFIC CONTROL	LS	1	\$1,650.00	\$1,650.00	\$1,250.00	\$1,250.00	\$11,000.00	\$11,000.00	\$3,200.00	\$3,200.00
SUBTOTAL BASE BID SECTION B - REUNION PH.2 MASTER ROADWAY (GALLETA	) - PAVING IM	PROVEMENT	_	\$227,560.48		\$252,529.60		\$270,317.00		\$255,395.85
·	•									
	7									
<b>A</b>										
	_									
	*									

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 29, 2025

LIA ENGINEEPING, INC.

LIA ENGINEERING, INC. S.BOOTH OCTOBER 29, 2025 NTD720-0083

			5) L.H. LACY CO	OMPANY, LTD.	6) MARIO SINACOLA & SONS EXCAVATING,		7) <b>GT</b> I		8) HARPER BROTHE	R CONSTRUCTION
					1	NC.				
NO.   ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION C - REUNION PH.2 TXDOT IMPROVEMENTS:	CV	4557	¢20.20	647.445.06	ć24.4F	622 020 FF	624.25	¢27.042.05	ć20.2F	Ć42 00F 2F
1. 2" SURFACE HMAC (SUPERPAVE P TYPE C SAC A PG 70-28), TXDOT ITEM	SY	1557	\$30.28	\$47,145.96	\$21.15	\$32,930.55	\$24.35	\$37,912.95	\$28.25	\$43,985.25
NO. 0344 7024	LF	649	¢14.07	Ć0 71F F2	¢r.00	ć2 24F 00	\$10.00	¢c 400 00	ćo ar	¢c 002 25
2. FULL DEPTH SAWCUT ASPHALT PAVEMENT 3' WIDE ALONG RIGHT TURN	LF	649	\$14.97	\$9,715.53	\$5.00	\$3,245.00	\$10.00	\$6,490.00	\$9.25	\$6,003.25
LANE, TXDOT ITEM NO. 0105 7001 3. CONNECT TO EXISTING PAVEMENT HEADER, TXDOT ITEM NO. 0344 7024	EA	1	\$2,680.00	\$2,680.00	\$1,000.00	\$1,000.00	\$2,300.00	\$2,300.00	\$1,000.00	\$1,000.00
3. CONNECT TO EXISTING PAVEINENT HEADER, TADOT HEINTNO. 0344 7024	LA	1	\$2,080.00	\$2,080.00	\$1,000.00	\$1,000.00	32,300.00	\$2,300.00	\$1,000.00	\$1,000.00
4. 6" SOLID DOUBLE YELLOW STRIPING WITH TYPE II-A-A MARKERS, TXDOT	LF	641	\$3.75	\$2,403.75	\$5.20	\$3,333.20	\$4.00	\$2,564.00	\$5.20	\$3,333.20
ITEM NO. 0668 7051, 0672 7004		0.1	ψ3.75	ψ2, 103.73	<b>\$3.20</b>	,J,J55.20	\$ 1.00	Q2,50 1.00	<b>V3.20</b>	<b>\$3,333.20</b>
5. 6" SOLID WHITE SHOULDER STRIPE WITH PROFILE EDGELINE MARKINGS,	LF	511	\$5.36	\$2,738.96	\$2.25	\$1,149.75	\$6.00	\$3,066.00	\$2.25	\$1,149.75
TXDOT ITEM NO. 0668 7009			7-1	7-):	7-1-0		, , , , , ,	+-,	7	+ = / = · · · · ·
6. 8" SOLID WHITE PAVEMENT STRIPE WITH TYPE I-C RAISED PAVEMENT	LF	920	\$5.36	\$4,931.20	\$3.35	\$3,082.00	\$6.00	\$5,520.00	\$3.35	\$3,082.00
MARKERS, TXDOT ITEM NO. 0668 7014, 0672 7002			•	. ,			•	• •	·	
7. LEFT TURN ONLY PAVEMENT MARKING (ARROW & WORD), TXDOT ITEM	EA	2	\$418.08	\$836.16	\$350.00	\$700.00	\$575.00	\$1,150.00	\$350.00	\$700.00
NO. 0668 7023, 0668 7031										
8. RIGHT TURN ONLY PAVEMENT MARKING (ARROW & WORD), TXDOT ITEM	EA	2	\$418.08	\$836.16	\$350.00	\$700.00	\$575.00	\$1,150.00	\$350.00	\$700.00
NO. 0668 7023, 0668 7031										
9. RIGHT LANE MUST TURN RIGHT SIGN, TXDOT ITEM NO. 0636 7007	EA	1	\$1,152.40	\$1,152.40	\$535.00	\$535.00	\$1,250.00	\$1,250.00	\$1,055.00	\$1,055.00
10. KEEP RIGHT SIGN, TXDOT ITEM NO. 0636 7007	EA	1	\$1,152.40	\$1,152.40	\$520.00	\$520.00	\$1,250.00	\$1,250.00	\$520.00	\$520.00
<ol> <li>TEMPORARY WORK ZONE MARKINGS, TXDOT ITEM NO. 0662</li> </ol>	LS	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$1,250.00	\$1,250.00	\$200.00	\$200.00
<ol><li>TEMPORARY TRAFFIC CONTROL, TXDOT ITEM NO. 0502 7001</li></ol>	LS	1	\$16,500.00	\$16,500.00	\$12,500.00	\$12,500.00	\$1,250.00	\$1,250.00	\$24,300.00	\$24,300.00
13. 4" HMAC (DENSE-GRADED TYPE B PG 64-22), TXDOT ITEM NO. 0341 7001	SY	1268	\$43.36	\$54,980.48	\$34.50	\$43,746.00	\$39.70	\$50,339.60	\$39.20	\$49,705.60
14. PRIME COAT MC-30 OR EC-30, TXDOT ITEM NO. 0310 7004	SY	1268	\$1.93	\$2,447.24	\$3.50	\$4,438.00	\$4.00	\$5,072.00	\$1.80	\$2,282.40
15. 6" FLEX BASE TYPE A GRADE 1-2, TXDOT ITEM NO. 0247 7044	SY	1268	\$20.98	\$26,602.64	\$15.00	\$19,020.00	\$25.45	\$32,270.60	\$9.80	\$12,426.40
16. PLANING ASPHALT CONCRETE PAVEMENT (0"-2") AT	SY	143	\$57.51	\$8,223.93	\$39.00	\$5,577.00	\$20.00	\$2,860.00	\$53.65	\$7,671.95
CONNECTIONS/TRANSITIONS TO EXISTING ROADWAY, TXDOT ITEM NO.										
0354 7002			4-4-			4		4		4
17. 8" LIME STABILIZED SUBGRADE, TXDOT ITEM NO. 0260 7015	SY	1268	\$6.17	\$7,823.56	\$5.00	\$6,340.00	\$6.00	\$7,608.00	\$3.30	\$4,184.40
18. TACK COAT, TXDOT ITEM NO. 0292 7017	SY	1268	\$1.45	\$1,838.60	\$0.15	\$190.20	\$1.00	\$1,268.00	\$1.35	\$1,711.80
19. 24" WHITE STOP LINE, TXDOT ITEM NO. 0666 7352	LF	36	\$21.44	\$771.84	\$10.00	\$360.00	\$25.00	\$900.00	\$10.00	\$360.00
20. HIGHWAY INTERSECTION AHEAD SIGN, TXDOT ITEM NO. 0636 7007	EA	2	\$1,152.40	\$2,304.80	\$785.00	\$1,570.00	\$1,250.00	\$2,500.00	\$785.00	\$1,570.00
21. STOP SIGN, TXDOT ITEM NO. 0636 7007	EA	1	\$1,152,40	\$1,152.40	\$615.00	\$615.00	\$1,030.00	\$1,030.00	\$615.00	\$615.00
22. HYDRATED LIME (36#/SY)	TON LS	23	\$321.60 \$4,200.00	\$7,396.80 \$4,200.00	\$295.00	\$6,785.00 \$1,500.00	\$335.00	\$7,705.00	\$315.00	\$7,245.00
23. REMOVE EXISTING PAVEMENT MARKINGS SUBTOTAL BASE BID SECTION C - REUNION PH.2 TXDOT IMPROVEMENTS:	LS	1	\$4,200.00	\$4,200.00 \$211,334.81	\$1,500.00	\$1,500.00 \$152,836.70	\$5,000.00	\$5,000.00 \$181.706.15	\$1,500.00	\$1,500.00 \$175,301.00
SUBTOTAL BASE BID SECTION C - REUNION PR.2 TADOT INTROVENIENTS:				\$211,334.81		\$152,830.70		\$181,700.15		\$175,301.00
BASE BID SECTION D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY:										
1. 6" REINFORCED CONCRETE PAVEMENT (3,600 PSI) DRIVEWAY APPROACH	SY	10	\$88.95	\$1,690.05	\$150.00	\$2,850.00	\$75.00	\$1,425.00	\$50.35	\$956.65
1. 0 NEW ORCES CONTROL 12 17 NEW (5) 000 1 51) 5 W 2 W 7 W 1 NO NO.	٥.		\$00.55	ψ <b>1</b> ,030.03	<b>\$150.00</b>	<b>\$2,030.00</b>	ψ, 3.00	ψ1, 123.00	φ30.33	φ330.03
2. 12" FLEX BASE	SY	545	\$38.11	\$20,769.95	\$30.00	\$16,350.00	\$40.00	\$21,800.00	\$15.00	\$8,175.00
3. 6" COMPACTED LIME STABILIZED SUBGRADE (PER GEOTECHNICAL	SY	622	\$5.53	\$3,439.66	\$4.00	\$2,488.00	\$6.00	\$3,732.00	\$3.50	\$2,177.00
ENGINEERING REPORT)		-					•		,	
4. HYDRATED LIME (36#/SY)	TON	12	\$306.59	\$3,679.08	\$295.00	\$3,540.00	\$335.00	\$4,020.00	\$315.00	\$3,780.00
SUBTOTAL BASE BID SECTION D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY:			_	\$29,578.74	•	\$25,228.00	_	\$30,977.00	_	\$15,088.65
BASE BID SECTION E - REUNION PH.2 MISCELLANEOUS ITEMS:										
PERFORMANCE AND PAYMENT BOND	LS *	1	\$76,000.00	\$76,000.00	\$37,000.00	\$37,000.00	\$37,000.00	\$37,000.00	\$36,600.00	\$36,600.00
2. MAINTENANCE BOND - 2 YR, 100%	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$13,000.00	\$13,000.00	\$500.00	\$500.00
SUBTOTAL BASE BID SECTION E - REUNION PH.2 MISCELLANEOUS ITEMS:				\$77,500.00		\$37,500.00		\$50,000.00		\$37,100.00

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF RHOME E.T.J., WISE COUNTY, TEXAS OCTOBER 2, 2025

OCTOBER 29, 2025 LIA ENGINEERING, INC. S.BOOTH OCTOBER 29, 2025 NTD720-0083

			5) L.H. LACY	COMPANY, LTD.	'	A & SONS EXCAVATING, INC.	7)	GTI	8) HARPER BROTHE	R CONSTRUCTION
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNATE I - REUNION PH.2 PAVING ITEMS:		2000	47.54	450,000,00	45.50	450.000.00	46.40	45.4.400.00	45.45	440.000.00
1. 8' WIDE CONCRETE TRAIL (4" THICK)	SF SF	8000 10000	\$7.61 \$7.56	\$60,880.00 \$75,600.00	\$6.50 \$6.50		\$6.80 \$7.00	\$54,400.00 \$70,000.00	\$6.15 \$6.15	\$49,200.00 \$61,500.00
<ol> <li>10' WIDE CONCRETE TRAIL (4" THICK)</li> <li>REMOVE AND REPLACE EXISTING CONCRETE PANELS WITH A 6" HIGH</li> </ol>	SY SY	458	\$161.87	\$74,136.46	\$6.50 \$162.00		\$256.85	\$117,637.30	\$400.00	\$183,200.00
EARLY STRENGTH CONCRETE WITH 4,200 PSI STRENGTH @28 DAYS		436	\$101.87	\$74,130.40	\$102.00	\$74,190.00	3230.83	\$117,037.30	\$400.00	\$183,200.00
REINFORCED WITH #4 BARS @ 18" C-C A 6.5 SACK MINIMUM, AND A MAX WATER/CEMENT RATIO OF 0.4 AS SHOWN ON THE ATTACHED PAVEMENT										
PANFI REPAIRS EYHIRIT 4. 8" FLEX BASE TO BE INSTALLED UNDER THE REPLACED CONCRETE PANELS	SY	458	\$41.11	\$18,828.38	\$50.00	\$22,900.00	\$90.00	\$41,220.00	\$44.00	\$20,152.00
AS SHOWN ON THE ATTACHED PAVEMENT PANEL REPAIRS EXHIBIT.							, "			
INCLUDES 2-FOOT OVER EXCAVATION, BACKFILLING WITH NATIVE SOIL IN										
6-INCH LIFTS. MATERIAL TESTS. AND PROOF-ROLLING 5. ROUT AND SEAL EXISTING CONCRETE PAVEMENT	LF	20	\$26.80	\$536.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00	\$75.00	\$1,500.00
6. ACCESS GATE WITH KNOXBOX FOR FIRE ACCESS (PAINTED STEEL FARM	EA	1	\$5,500.00	\$5,500.00	\$6,500.00		\$15,000.00	\$1,000.00	\$6,500.00	\$6,500.00
GATE MINIMUM 48" HEIGHT)	LA	1	\$3,300.00	\$5,500.00	\$0,500.00	\$0,300.00	\$15,000.00	\$15,000.00	\$0,500.00	\$0,500.00
GATE MINIMUM 46 REIGHT)				\$235,480.84		\$221,596.00	_	\$299,257.30	_	\$322,052.00
SUBTOTAL ALTERNATE I - REUNION PH.2 PAVING ITEMS:				ψ <b>2</b> 55) 15515 1		722,550.00		<b>4233,237.00</b>		<b>4022)002.00</b>
ALTERNATE II - REUNION PH.2 TXDOT EXCAVATION ITEMS:										
<ol> <li>CLEARING &amp; GRUBBING - TXDOT RIGHT TURN LANE</li> </ol>	AC	0.76	\$4,500.00	\$3,420.00	\$6,500.00		\$3,000.00	\$2,280.00	\$20,400.00	\$15,504.00
2. UNCLASSIFIED EXCAVATION - TXDOT RIGHT TURN LANE	CY	1170	\$21.82	\$25,529.40	\$15.00		\$15.00	\$17,550.00	\$8.20	\$9,594.00
3. EROSION CONTROL FOR TXDOT IMPROVEMENTS	LS	1	\$7,150.00	\$7,150.00	\$7,500.00		\$6,500.00	\$6,500.00	\$8,380.00	\$8,380.00
4. TRAFFIC CONTROL DURING EXCAVATION	MO	1	\$5,000.00	\$5,000.00	\$10,000.00		\$16,000.00	\$16,000.00	\$24,315.00	\$24,315.00
5. BACKFILL ASPHALT	LS	1	\$1,750.00	\$1,750.00	\$5,000.00		\$5,000.00	\$5,000.00	\$6,030.00	\$6,030.00
SUBTOTAL ALTERNATE II - REUNION PH.2 TXDOT EXCAVATION ITEMS:				\$42,849.40		\$44,990.00		\$47,330.00		\$63,823.00
BID SUMMARY				4						
BASE BID SECTION A - REUNION PH. 2 - PAVING IMPROVEMENTS:				\$3,561,370.14		\$3,654,792.50		\$3,708,535.50		\$3,963,747.45
BASE BID SECTION B - REUNION PH.2 MASTER ROADWAY (GALLETA) - PAVING IMPR	ROVEMENTS	S:		\$227,560.48		\$252,529.60		\$270,317.00		\$255,395.85
BASE BID SECTION C - REUNION PH.2 TXDOT IMPROVEMENTS:			1	\$211,334.81		\$152,836.70		\$181,706.15		\$175,301.00
BASE BID SECTION D - REUNION PH.2 WELL SITE ACCESS DRIVEWAY:		. 5		\$29,578.74		\$25,228.00		\$30,977.00		\$15,088.65
BASE BID SECTION E - REUNION PH.2 MISCELLANEOUS ITEMS:				\$77,500.00		\$37,500.00		\$50,000.00		\$37,100.00
TOTAL AMOUNT BASE BID		V.		\$4,107,344.17		\$4,122,886.80		\$4,241,535.65		\$4,446,632.95
ALTERNATE ITEMS:										
ALTERNATE I - REUNION PH.2 PAVING ITEMS:	1/			\$235,480.84		\$221,596.00		\$299,257.30		\$322,052.00
ALTERNATE II - REUNION PH.2 TXDOT EXCAVATION ITEMS:	<b>)</b> '			\$42,849.40		\$44,990.00		\$47,330.00		\$63,823.00